PART (B) PGT (Pol Sc) Sub Code P-24

‘Swamin’ of Kautilya was -

a. A feudal chieftain

b. An absolute ruler

c. A servant of the people who
received payment in the shape of
taxes.

d. BothA&B

Who made the statement, “justice was
the virtue of soul and injustice its
vice”.

a. Aristotle

b. Plato

c. Socrates

d. None of the above

Which article of the constitution
permits the supreme court to review
its own judgement or order?

a. Article 137

b. Article 140
c. Article 139
d. Article 138

The concept of “Procedure
established by Law” as incorporated
in the constitution is borrowed from-
a. American Constitution

b. Japanese Constitution

c. British Constitution

d. None of the above

5. The statement - “the grapevine is

valuable as a barometer of public
opinion in the organization” was
made by -

a. Herbert Simon

b. Urwick

c. Mooney

d. None of these

The first Amendment to the

constitution carried outin 1951

related to -

a. Security of the country

b. Security of the Prime Minister

c. Protection of agrarian reforms in
some states

d. Schedule casts and schedule
tribes.

Which of the following Summit took
place in Hanoi in October 20107

a. ASEAN Summit

b. SAARC summit

c. G-8 summit

d. None of these

The term “Cybernetics” is related with
a. Motivation

b. Control

c. Communication

d. Authority



9.

10.

11.

12.

13.

14.

The institute of Lok Ayukta is at the
level of -

a. State

b. Centre

c. Both

d. All India level

By which constitute Amendment the
age of voters was reduced to 18 years
a. 52nd

b. 56t
c. 61st
d. 64t

Karl Marx explained the process of
class struggle with the help of which
one of the following theories?

a. Empirical Liberalism

b. Existentialism

c. Darwin’s theory of evolution

d. Dialectical materialism

The pardoning power of President of
India lies in -
a. Article 68
b. Article 70
c. Article 72
d. Article 74

A government press is -
a. Line agency

b. Staffagency
c. Auxiliary agency
d. All of the above.

The national Development Council
was establish in -

a. 1950

b. 1952
c. 1954
d. 1955

15.

16.

17.

18.

19.

The first state to introduce the
Panchayati Raj System in 1959 was -
a. West Bengal

b. Rajasthan
c. Haryana
d. Karnataka

The Chief Profounder of Monistic
Theory of Sovereignty was -

a. Laski

b. Hobbes
c. Austin
d. Locke

The institution of OMBUDSMAN
originated from -

a. Britain

b. France

c. America

d. Sweden

Which theory of the state is
expounded in ‘SATH PARVA’ ?
a. Divine Right Theory

b. Social Contract Theory

c. Theory of consent

d. BothA&B

Rousseau’s view greatly influenced -
a. The Glorious Revolution

b. The French Revolution

c. The Russian Revolution

d. All the above



20. Consider the following statements -

21.

22.

23.

24,

1.

Bentham rejected theory of
natural rights

Bentham propounded an
individualistic conception of state.
Bentham favored grant of only
negative function to the state
Bentham held that people have no
moral might to resist the State.

Of the above statement :

a.

b.
C.
d

1, 2 and 3 are correct
2,3 and 4 are correct
1, 2 and 4 are correct
1, 3 and 4 are correct

The term ‘Budget’ is derived from a -

a.

b
C.
d

Latin word
French word
Spanish word
None of the above

The method of proceeding from
general to the particular is -

a.

b.
C.
d

Deductive method
Inductive method
Formal logic
Traditional logic

Under which Article of the
Constitution the Union Public Service

Commission is formed?

i

b
C.
d

Article 315
Article 324
Article326
Article 330

By which Constitutional Amendment

Act the Municipal Institutions in India

are accorded Constitutional Status?

a.

b.
C.
d

4.2nd
4.4th
7 4th
73rd

25.

26.

27.

28.

Who has given the doctrine of
socialism in one country?

a. Trotsky
b. Marx
c. Lenin
d. Stalin

The state is a necessary evil “- the
statement refers to

a. Individual theory of state

b. Anarchist theory of state

c. Neo-Liberal theory of state

d. Marxian theory of state

Which of the following is not an
essential element of the state?
a. Government

b. Sovereignty
c. Population
d. Principles

Match the column -

List -1

A. ].S. Mill

B. T.H. Green
C. H.J.Laski
D. John Rawls
List -11

i. Principles of Political obligation
ii. Theory of Justice

iii. Grammar of Politics

iv. On Liberty

The given Codes are:

A B C D
iv i iii ii
i ii iii iv

iv iii ii i

& e o

i iii iv ii



29.

30.

31.

32.

33.

Which Act provided for the
reservation of seat for Women,
Schedule castes and Schedule Tribes
in municipalities?

a. 65t Constitutional Amendment
Act

b. 68t Constitutional Amendment
Act

c. 73rd Constitutional Amendment
Act

d. 74t Constitutional Amendment
Act

Panchayati Raj is included in the -
a.Union List
b.State List
c. Concurrent List
d.Residuary List

Who talked about separation of
Powers of government in Executive,
Legislative and Judiciary?
a.Locke
b.Hobbes
c. Montesquieu
d.]J.S. Mill

In 1987 Goa came into being as -
a.22nd state
b.23rd state
C. 24t state
d.25t% state

First Backward Commission was
appointed in 1953 under -
a.Dr. BR Amberkar
b.Babu Jaggiran Ram
c. Kaka Kelkar
d.BN Mandal

34.

35.

36.

37.

38.

The money bill in the state can
originated in -
a.The Legislative Council
b.The Legislative Assembly
c.BothA&B
d.None of the above

Which schedule of the constitution
of India contains the division of
powers between the union and the
states in terms of the union list and
the state list -
a.Forth schedule
b.Fifth schedule
c. Seventh schedule
d.Sixth schedule

The Suppression of Immoral Traffic
in women and girls Act was passed in
the year -

a.1952
b.1954
c. 1956
d.1960

Planning Commission was setup in
India in the year -
a.1949
b.1950
c.1951
d.1952

The provision of Financial
Emergency Powers of the President
has been laid down in -
a.Article 352
b.Article 356
c. Article360
d.Article362



39.

40.

41.

42,

43.

Who used the wood ‘COLD WAR' for
the first time?
a. Bernard Baruch
b. CK Webster
c. ]. Morgenthau
d. Karl Deutch

The first summit of Non Aligned
countries was held in 1961 at -
a.Cairo
b.Colombo
c.Belgrade
d.New Delhi

Which one of the following
organization for the first time
impressed on the states to seek
arbitration or judicial settlement of
disputes before taking recourse to
hostilities?

a. The concert of Europe
b.The League of Nations

c. The United Nations
d.Hague convention of 1907

The general assembly of the UNO
passed the declaration of Human
Rights on
a.10 Dec 1946
b.10 Dec 1947
c.10 Dec 1949
d.10 Dec 1948

Recruitment of Civil Services in
India was started on the
recommendation of -
a.Macaulay
b.Minto Morley
c. Montford
d.Ripon

44. The Contingency Fund of India was

45.

46.

47.

been placed at the disposal of -
a. The President

b. The Prime Minister

c. Finance Minister

d. Home Minister

Match the list-I with list-1I and
select the correct codes from the
codes given below the list -
List-1
A. Kothari Committee
B. Satish Chandra Committee
C. Prof. Yoginder K Alagh Committee
D. Lee Commission
List-II
i. 1988
ii. 1975
lii 2000
iv 1924

A B C D
ii i il iv
i ii il iv
iv ii il i

&0 o

iii ii i iv

Which part of the Indian
Constitutions is described as the
Magne Carta of India?

a. Part III
b. Part IV
c. PartV

d. Part VI

The Planning Commission has
recently set up a working group on -

a. Education

b. Health reforms

c. Infrastructure Development
d. Rural development



48.

49,

L
I1.
I1I.
IV.

50.

51

The Preamble to the Constitution of
India was amended by -
a.24th Amendment
b.42rd Amendment
c.46th Amendment
d.None of the above

What is the correct chronological
sequence of the models given by
Mortan Kaplan?

Balance of power

Tight Bipolar

Loose Bipolar System

Universal International System

a. I I1 I11 IV
b. 1 I11 I1 IV
c. I IV I11 I1
d. 11 1II IV |

Who said that “the world at every
stage is both a product and
prophecy”?
a.Marx
b.Pluto
c. Socrates
d.Hegel

Which of the following statement
about the Pressure Groups is not
correct -
a.Pressure groups take position on
political issues

b. Pressure groups are organized
expression of the interests and
views of specific social section

c. All Pressure groups act as extended
arms of Political Parties

d.They aim to directly control or
share political power

52.

53.

54.

55.

56.

In the absence of both the
Presidents and the Vice Presidents,
who shall act as the President of
India?
a.Prime Minister
b.Speaker of the Lok Sabha
c. Chief Justice of India
d.Deputy Chairman of Rajya Sabha

The state recognisation Commission
was appointed in 1953 under -
a.Fazl Ali
b.Rahman Ali
c. Fazl Rehman
d.None of the above.

The ideas of the Fundamental
Rights has been birrowed from the
constitution of -
a.Ireland
b.USA
c.Canada
d.Sweden

Who among the following is the
Chief Exponent of functional
representation?
a.James Bryce
b.].S. Mill
c. G.D.H. Cole
d.John Locke

Which Parliamentary Committee act
an a ‘Watch Dog’ on departmental
expenditure and irregularities
a.Estimate Committee
b.Public Accounts Committee
c. Public under taking Committee
d.Public Assurance Committee



57.

58.

59.

60.

61.

Which one of the following is not a
Directive Principle of the state policy
a.Prohibition
b.Cow Protection
c. Environment Protection
d.Ban on child labour

MANREGA scheme has been
launched to ensure the
implementation of which Article of
the Indian Constitution?
a.Article 42
b.Article 43
c. Article 47
d.Article 48

The function of Lok Sabha daily
begins with -
a.Zero hour
b.Question hour
c. Short notice question
d.None

The Indian Federation is an example
of -
a.Centralized federation
b.Cooperative federation
c. Bargaining federation
d.Conflicting federation

Who has said that a welfare state is
a “a state that provides” for its
citizens a wide range of social
services”?
a.Cole
b.Abraham
c. Laski
d.Kent

62.

63.

64.

65.

66.

Which President of India was
elected by Second preference votes?
a.V.V. Giri
b.Gyani Zail Singh
c. Neelam Sanjeev Reddy
d.Zakir Hussain

In India, the office of the Lokpal was
suggested in 1966 on the basis of the
recommendations of the -
a.Administrative Reforms

Commission
b.Planning Commission
c. Law Commission
d.Financial Commission

Who advocated the concept of party
less democracy in India?
a.].L. Nehru
b.R.M. Lohia
c.Jaiprakash Narayan
d.B.R. Ambedkar

Which one pair is not correct?
a. George Sorel - Syndicalism
b. Cole - Guild Socialism
c. Laski - Pluralism
d. Hegel - Individualism

Which theory advocates only ‘night
watchman role’ of the state-
a.Welfare state theory
b.Liberal theory
c.Socialist theory
d.Idealist theory



67.

68.

69.

70.

During which Five Year Plan was
the Emergency clamped, nor election
took place and the Janta Party was
elected?
a.Forth
b.Fifth
c.Sixth
d.Seventh

The idea of concurrent list has been
borrowed from the constitution of -
a.Australian
b.US
c. Germany
d.Canada

Who is the author of the book
‘Public opinion’?
a.Lipmann
b.Bentham
c. Locke
d.Rousseau

The Supreme Court of India -

1.Has original but appellate
jurisdiction

2.Appoints the attorney general of
India

3.Has exclusive jurisdiction in
disputes between union and
states

4.Enforces fundamental rights
Choose the correct answer from
the codes given below-

a.1&3
b.1&4
c.2&4
d3&4

71.

72.

73.

74.

A formal order under seal issued in
the name of a sovereign government
or by a superior court enjoying the
office or the other person to who it is
issued to do or refrain from doing
some specificactis a -
a.Petition
b.Habeas Corpus
c. Writ
d.None of these

Which of the following reflects a

socialistic ideology?

a.Prohibition

b.Ban an cow slaughter

c. The state being directed to strive for
equal pay for equal work.

d.The state undertaking the
organization of Panchayats

Which of the following Political
Party enjoys the distinction of having
formed the first non-congress
government in an Indian state?
a.DMK in Tamil Nadu
b.Akalis in Punjab
c. Communists in Kerala
d.Lok Dal in Uttar Pradesh

In which case did the Supreme
Court of India strike down the
provisions of constitution that
accorded primary to Directive
Principles of state policy over
Fundamental Rights?
a.Sajjan Singh Case
b.Golak Nath Case
c. Keshwanand Bharti case
d.Minerva Mills Case



75.

76.

77.

78.

79.

A joint session of Vidhan Sabha and
Vidhan Parishad of a state is presided
over by -
a.Governor of the state
b.Chief Minister
c. Speaker of the Vidhan Sabha
d.Chairman of Vidhan Sabha

Rajya Sabha is considered to be a
permanent house of parliament
because-
a.Its member never retire
b.The house is never dissolved
. Only One - Third of its members

retire after every two years
d.None of the above.

In an election, electioneering has to

cease in a constituency-

a.Two days before the poll

b.48 hours before the hour of
commencement of polling

.48 hours befor the poll in the
constituency

d.48 hours before the closing hour of
polling in the constituency.

What is administrative law?
a.The law passed by the government
b.The ordinances issues by the
President or the Government
¢. The rules and regulations framed by
the Executive
d.The law relating to administration

The delimitation of the territorial
constituencies in India is the
responsibility of -
a.The President
b.The Governor
c. The Election Commission
d.The Parliament

80.

81.

82.

83.

84.

The Union territories are

administered by -

a.The Prime Minister of India

b.The President through the
administrators appointed him

c. The Union Executive

d.The Administrators appointed by
the Govt. of India.

The Hague Convention of 1907

prohibited -

a.The use of poisoned weapons or
arms during the war

b.Killing or wounding of an enemy
who had surrendered

c.Killing or wounding trencher any
individual belonging to the hostile
nation army.

d.All the above

The World Trade Organisation was
established on -
a.1January 1992
b.30 June 1993
c.1January 1995
d.16 July 1997

Which one of the following operates
on the principle of ‘Power without
Responsibility’
a.Colonialism
b.Neo - Colonialism
c.BothA&B
d.None of the above

The ASEAN (Association of South
East Asian Nation) was created
through
a.Bangkok declaration
b.Singapore declaration
c. Manila declaration
d.None of the above



85.

86.

87.

88.

89.

Under which article of the UN
Charter the regional organizations are
expected to keep the security council
informed about their activities?
a.Article 54
b.Article 55
c. Article 56
d.None of the above

Which one of the following is
regarded as the enforcement arm of
the United Nation?
a.General Assembly
b.Security council
c. The Secretariat
d.International court of justice

Who was the ruler of Kashmir who
signed the Instrument of Accession
with India?
a.Ranbir Singh
b.Hari Singh
c. Hari Singh Nalwa
d.Ranbir Singh

India played a vital role in the
independence of
a.Algeria
b.Morocco
c. Tunisia
d.All the above

Myanmar (Burma) which formed a
part of the British Empire separated
from India in-

a.1935
b.1937
c.1939
d.1944

90.

91.

92.

93.

94,

Who defined Globalisation as “the
increasing close international
integration of markets both for goods
and services and capital”
a.World Bank
b.International Monetary Fund (IMF)
c. UNDP
d.None of the above

Who said that national interest
implies “what the states seek to
protect or achieve in relation to each
other”
a.Morgenthan
b.V.V. Dyke
c. Brower
d.Schicher

Who is the define Sovereign in a
Parliamentary form of government?
a.Prime Minister
b.Parliament
c. President
d.Supreme court

The President of India can exercise
the vets power in respect of-
a.All bills passed by Parliamentary
b.Money Bills
c. Ordinary Bill
d.Constitutional Amendment Bill

West Minster model spends for a
particular type of
a.State
b.Government
c. Constitution
d.Administration



95.

96.

Question 95 and 96 are based on two
statements labeled as Assertion (A)
and Reason (B). consider these
statements and select the correct
answer from the codes given below -

Assertion (A) : Gandhiji was against

wring the impure means.

Reason (R) : according to him, impure

means do not help in achieving the

ends.

Codes :

a.Both (A) & (R) are true and (R) is
the correct explanation of (A).

b. Both (A) & ( R), but (R) is not the
correct explanation of (A)

c.(A) is true, but (R) is false

d.(A) is false, but (R) is true

Assertion(A) : Nehru said that it is
crime against man & God to submit to
anybody’s rule.

Reason(R) : Individuals are not born

equal.

Codes:

a.Both (A) & (R) are true and (R) is
the correct explanation of (A).

b. Both (A) & ( R), but (R) is not the
correct explanation of (A)

c.(A) is true, but (R) is false

d.(A) is false, but (R) is true

97.

98.

99.

The credit to develop Structural -
Functionalism of Political Analysis
goes to -
a.Gabriel Almond
b.David Easton
c. Robert Morton
d.None of the obove

Boded labourer was abolished in
India by an Act of Parliament in the
year -

a.1974
b.1976
c. 1978
d.1989

Which one of the Fundamental
Rights is guaranteed only to Indian
citizens and not to the foreigners
living in India?
a.Freedom of speech
b.Right to life
c. Freedom of religion and expression
d.Right to equality

100. If the President want to tender his

resignation before expiry of his
normal term he has to address the
same to -

a. The Chief Justice of India

b.The Parliament

c. The Prime Minister

d.The Vice President



